Moltiplicazioni tra polinomi

Risolvi le seguenti moltiplicazioni tra polinomi.

Esempio: (2y — 6x) - (122 — 82) = 2y(12z — 8z2) — 6x(12x — 82) = 24xy — 7222 + 3222

10.

11.

12.

13.

14.

15.

(42 + 27x) - (822 + Tzy)

(20222 — 9y) - (8 — 323y)

(1022 — 7z2) - (=53 — )

(922 + 622) - (T2 — 87)

(122y% — 22) - (=8 — 49?)

(4z — 22%) - (—2xy — 5a?)

(Ty? 4 323) - (623 + 102?)

(263 4 9ac) - (—5b% +8 — ¢)

(5a% — 2¢) - (—5b% — 9c + Ta?)

(6c* — 3) - (—2b% +4 — 8)

(6ac — 8¢?) - (—7a + 6¢ + Sac)

(3b%2 — 9¢) - (8a® — 2 — 5a?)

(6a® — 8a2b°) - (4a — 1 — Tb°)

(4¢® 4+ Tb) - (—12¢3 — 3b + 6ab)

(1463 + 6¢*) - (9 + 6a2 + 5¢)
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[3223 + 282y2 + 16222 + 142%y]

[1602222 — 60zy2? — 722y + 272%y?]

[-5022y% — 1023 + 3532 + Tx2]

[—72222 + 4223 + 15227]

[—88zy? — 48zy* + 162]

[—8zyz — 202tz + 425y + 1028]

[429%23 + 702%y? + 1825 + 302223]

[—100° 4 1663 — 2b3¢ — 45ab%c + T2ac — 9ac?]

[—25a2b% — 59a2c + 35a* + 10b3¢ + 18¢2]

[—12b3¢* — 24¢* + 613 + 12]

[—42a%¢ + 48a2c? + 92ac? — 48¢3 — 64ac?]

[9a3b% — 6b% — 2Ta3¢c + 18¢]

[24a® — 6a® — 34a%b® — 32ab° + 56a2b10]

[—48¢5 + 24abc® — 96be — 2102 + 42ab?]

[1260°% + 84a2b3 + 70b3¢ + 54c¢* + 36a2¢* + 30¢°]
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